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NO CALCULATORS ALLOWED

SHOW PROPER ALGEBRAIC WORK (INCLUDING ALL IDENTITIES USED)
USE PROPER NOTATION & SIMPLIFY ALLANSWERS WHERE REASONABLE

Find Iirfr}ﬁz coth x. Do NOT use a graph. Gtve algebraic or numerical reasoning, as shown in class. SCORE: | = !2 POINTS
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State the definition of “area under a function” given in class. s . SCORE:L»;rz POINTS

Use complete sentences and proper algebra & English as shown in class.
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Using the definition of “area under a function” given in class, write an algebraic expression for the area under SCORE: “f /2 POINTS
f(x) =sin3x over the interval [2, 9]. Do NOT evaluate the expression. You do NOT need to draw a graph to explain your answer.
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MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER Ay L. SCORE: i—_-:"i_z POINTS Pl

For the function f on the interval [-2, 10], A4, using the "rfl'g}‘l;ha.na sum (known as R; in your textbook) equals
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nd -d—cosh" (coth x).
dx
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sinhx =—4, find cosh 2x , using identities. SCORE:“~“73 POINTS
0 NOT use the logarithmic formula for any inverse hyperbolic functions.
p! 2 . 2 a . 2 o
O3k 24 - = cosh _"S“‘_"l‘i- coSh % Lok _,\
- : b | G e
P “oall e el % 5"‘5‘_}?3___ |2 coshy = Y sealy
- L.—--—-"____'_-_-__-__-—_ i -
L 8
— k(9 Y
o T A S
—_— i -J— j
-]—- \ (3 Lf | ‘* o i) gLQ .J_
‘ove the logarithmic formula for tanh™ x. & SCORE: /3 POINTS
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rove the derivative of sinh ™' x . Do NOT use the logarithmic formula for sinh ™' x .

4 Sin b %

SCORE: 5;‘ 3 POINTS

CDSL\13 = SIHLQJ =
(as]ﬂ'&:} = Al it

C%L:B %—i _:i__l* | @sho = j |t s;nL’:j
e 15
; I3 (2sh+ )
EIRE = A
—jl L
W -—'[————‘.
1+ siak?® 1
e el
i \
dxl 2



